wod duruonquI mmm//:dny

BSC. PART - Il EXAMINATION - 2016

PHYSICS SUB/ GEN
GROUP - A (Compulsory)

“I. Answer all questions selecting the correct option from (he following :

(a) Which is not a magnctic propenty ?

(i) Permeability (i) Susceptibility (iii) Resistivity (iv) Coercivity
(b) Q-factorofacoilis:

wlL

(i) Q = wLR (ii) Q=—E-
() The ground state energy of a hydrogen atom is
S (i) 13.6¢V (ii)=13.6¢V (iii) 34 eV (iv)=3.4¢eV .
(d) When two plane-polarised waves combine to produce a circularly polarised
‘ wave. then they difler in phase by : -

R !
(iii) Q='w—L'(iv) Q=——-—wLR

:r .
(i) Zcro {i_i) £y ()T (iv)2®w
(¢) The Curic-Weiss's law for ferromagnetic matcrials is :
1 ' o] 1
(i) e (i) YT G YT v T
' T ' ¢ c c
(N The phenomenon which confirms that light waves are transverse in naturc is:
(i) Interference (i) Diffraction (iii) Polarisation (iv) Dispcrsion
(®) In Newtons ring the diameter of nth dark ring is proportional to :
o Gidndiy g2 (i) p¥(iv) o3 o
‘(h) The Bragg's law is : ,
oW
(i) 22.d = n coscc 0 (ii) 22.d = n sin O (iii) T=_"C05¢09(w) = -nsmd
(i) . Ifan clectron can be stopped by a potential of 5 volts, its kinetic energy is*
(1) 5 volts (ii}Sjoules (iit)Scaloric = (iv)5eV

. () Neutral temperature of a thermo-couple is the temperature at which the

. . . -

thermo e.m.(is : : :
(i) Zero (i) Maximum (iii) Minimum (iv) Changes sing
GROUP-B

% Give Langevin's theory Prdimﬂg_"f'ism* http://www.tmbuonline.com

{ An altemating e.m.Ce = ep sinwt is applied 1o a circuil contalning inductance I.
T eapacittance and resistance R in series. Obtain the expression for instantancous
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current in the circnt,
pesenibe Compton EiYect. Oblain the expression for Compton shift. _
W hat i radioactin ity 7 State the lows of radinactive disintegration. Detine half-life
an obtain its expression,

GROUP-C
iate and explain Fermats principle of least time. Using the law, establish the laws
of refraction at plane surface.
Describe Michehon's Interferometer. How it is used to measure wavclength of
monochromatic light ? '
Describe the difraction of light due 10 a single shit.
Wriie short notes on any two of the following :
() Ruby Laser (b) Resolving power of atelescope (c) Production and detection of
plane polanised light (4} Amplitude modulation
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